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B. Com. (Hons.) 5th Semester
w. e. f. Academic Session 2016-17

and Current Scheme

Examination — April, 2021

FINANCIAL MANAGEMENT
Paper : BCHN-5.01

Time : Three Hours ] [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they have
been supplied the correct and complete question paper. No complaint in
this regard, will be entertained after examination.
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Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All

questions carry equal marks.
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1. Explain the following :
ferfeae st e i

(a) Differentiate between Watered Capital and Over

Capitalisation.

dTee iyed ST ST BUSAEAE F Sl SR B
(b) What are the advantages of Financial Planning ?
feit o & e @ § 7
(c) Indifference level of EBIT.
EBIT &l ISl &I
(d) Weighted Average Cost of Capital.
Tolt @1 IRG ofea vl
(e) Optimum Capital Structure.
e Goi |
(f) Aggressive Approach to financing of working

capital requirement.

P Toil @l oTasgwEa & foqawer & e o
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(g) Stringent Credit policy.
Regwi=e sfge difrd

(h) Lock Box System.
SEACIEE Rl

OLE-93537- -(P-7)(Q-9)(21)( 2)



UNIT -1
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2. "Financial Management has expanded in its scope
during last few decades." Examine the modern
approach in contrast with the traditional approach of
financial management. 16

“frig sEee J Bd g8 v & ARW o s § iR
frm B ol wee & TRUR® SRemT & Rl ey
gReehIoT 1 T HifT|

3. Over Capitalisation is as dangerous as Under
Capitalisation in business. Explain this statement along
with their effect on the operations of a business. 16
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UNIT -1l
s - I

4. Your company's share is quoted in the market at ¥ 20
currently. The company has paid a dividend of X 1 per
share and the investors expect a dividend growth rate
of 5% per year. Compute :

MU FHT H A JAAE H SO § % 20 T IGA o6
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(i) The company's equity cost of capital.

B & h & e @
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(ii) If the anticipated growth rate is 6% p.a Calculate
the indicated market price per share.

AR TR gRs T 6% uiEy B O X IR @
SIAING A &l oM B

(iii) If the company's cost of capital is 8% and the
anticipated growth rate is 5% p.a. Calculate the
indicated market price if the dividend of ¥ 1 per
share is to be maintained.
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5. What do you mean by financial leverage . Is it a double
edged weapon. Give its significance. 16
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6. What are the assumptions and implications of Net
operating Income approach of Capital structure.
Explain it with a diagram and an appropriate
example. 16
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7. Prepare a Working Capital forecast from the following

information : 16

Frrfetad STl § T sl o & Qarga™ dar &)
3

Issued Share Capital 2,00,000

frifa &t 18 sfar ol

10% Debentures 75,000

10% o9

The fixed assets are valued at ¥ 5 Lakhs. Production
during the previous year is 50,000 units.

T Ul g X 5 9@ ol fUsd 9% % SR S
50,000 e B

The same level of activity is intended to be maintained
during the current year. The expected ratios of cost of
selling are :

T I F AR A & FHE KX B G @ B GER
o1 foha & QN @l oTufRN STU | ¢

Raw Materials 50%
Sl Hid

Wages 10%
Overheads 25%
IR
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The raw materials normally remain in the store for 2
months before production. Every unit of the
production remains in process for one month. Finished
goods remains in the warehouse for 4 months. Credit
allowed by creditors is 3 months and credit allowed to
debtors is 3 months. Selling price is ¥ 6 per unit. Both
production and sales are in a regular cycle. Add 10%
for contingencies.
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UNIT -1V
e - IV

8. Discuss the Modigliani & Miller approach of
irrelevance of dividend. What are its limitations ? 16

AT B STAERTRA & AR X R gieder &
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9. Following information is provided to you :

Frfiia STehrd TTehl SR 3l STl ©
Annual Requirement : 4,000 Units
qifties LT 4,000 3
Cost per unit %40

SIS REESIH 340
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Carrying Cost 20% of the cost per unit

SR ERIU 20% TR B Ui 3H1

Ordering Cost % 160 per order

R FW H A 3160 ST AR

Discount 5% on order of 2,000 units
or more

2,000 A AT ARE B

B
° R W 5% B

Evaluate the proposal weather to place the order as per
EOQ or avail discount.

379G $ AR TR a7 A B H o IS & [T S
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